

Oscillation and Asymptotic Stability of Difference Equations Depending on Parameters*

Run-Mei Xiao and Xi-Lan Liu

*Department of Mathematics, Shanxi Datong University,
Datong, Shanxi 037009, P.R. China
E-mail: doclanliu2002@yahoo.com.cn*

Abstract

In this paper we study oscillation and asymptotic stability of the difference equation of the form

$$u_{n+1} = au_n + bu_{n-\tau} + cu_{n-\sigma},$$

where a , b and c are real parameters, τ and σ are positive integers. We find the asymptotically stable domain of this equation. When the tuple (a, b, c) belongs to this domain, the equation is asymptotically stable and the inverse is also true. In addition, we provide necessary and sufficient conditions for the equation to be oscillatory.

AMS subject classification: 34A10, 39A11.

Keywords: Difference equation, oscillation, asymptotically stable domain.

1. Introduction

The aim of this work is to investigate oscillation and asymptotic stability of the difference equation

$$u_{n+1} = au_n + bu_{n-\tau} + cu_{n-\sigma}. \quad (1.1)$$

The asymptotic stability and oscillation are main topics for difference equations, and many researchers have been attracted. In [8] Lin considered asymptotic stability for the difference equation (1.1) when $c = 0$, and obtained the asymptotically stable domain of the equation he focused on. When $c \neq 0$, is the result of [8] also true? In this paper, we shall answer this question. We find that when $c \neq 0$, things are different to some extent.

*Supported by the NNSF of China (10571078).

Received July 1, 2006; Accepted December 20, 2006

We not only consider the asymptotically stable domain of (1.1), but also necessary and sufficient conditions of oscillation for (1.1). Other works related to difference equations can be found in [2–10, 12] and references therein.

Definition 1.1. The difference equation (1.1) is asymptotically stable if each solution converges to 0 as $n \rightarrow \infty$. For given $\tau, \sigma \in \mathbb{N}$, the set of all tuples (a, b, c) such that the equation (1.1) is asymptotically stable is called the asymptotically stable set of (1.1), and denoted by $D(a, b, c|\tau, \sigma)$. The set $\bigcap_{\tau, \sigma \in \mathbb{N}} D(a, b, c|\tau, \sigma)$ is called the asymptotically stable domain of (1.1).

It is well known that (1.1) is asymptotically stable if and only if all roots of the equation

$$\lambda^{n+1} = a\lambda^n + b\lambda^{n-\tau} + c\lambda^{n-\sigma}$$

or

$$1 = a\lambda^{-1} + b\lambda^{-\tau-1} + c\lambda^{-\sigma-1} \quad (1.2)$$

are in the unit ball, i.e., $|\lambda| < 1$ [8].

For convenience, we list some conditions which will be used later.

$$(L1) \quad |a| + |b| + |c| < 1.$$

$$(L2) \quad |a| > |b| + |c| + 1.$$

$$(L3) \quad |b| > |a| + |c| + 1.$$

$$(L4) \quad |c| > |a| + |b| + 1.$$

$$(L5) \quad a > 0, b < 0, c \leq 0.$$

$$(L6) \quad a > 0, bc < 0.$$

$$(L7) \quad a > 0, b = 0, c < 0.$$

Lemma 1.2. Suppose that a, b and c are real numbers with $a^2 + b^2 + c^2 \neq 0$. Then the equation

$$|a|x^{-1} + |b|x^{-\tau-1} + |c|x^{-\sigma-1} = 1, \quad (1.3)$$

has only one root in the interval $(0, \infty)$.

Proof. Set

$$f(x) = |a|x^{-1} + |b|x^{-\tau-1} + |c|x^{-\sigma-1}, \quad x > 0.$$

By continuity of f in $(0, \infty)$, $\lim_{x \rightarrow 0^+} f(x) = \infty$, $\lim_{x \rightarrow \infty} f(x) = 0$, and the fact

$$f'(x) = -|a|x^{-2} - (\tau + 1)|b|x^{-\tau-2} - (\sigma + 1)|c|x^{-\sigma-2},$$

together with the intermediate value theorem, there exists a number $\xi \in (0, \infty)$ such that $f(\xi) = 1$. The proof is complete. \blacksquare

Lemma 1.3. Suppose that a, b and c are real numbers with $a^2 + b^2 + c^2 \neq 0$, and that $\tau, \sigma \in \mathbb{N}$. Then for the equation

$$az + bz^{\tau+1} + cz^{\sigma+1} = 1, \quad z \in \mathbb{C}, \tag{1.4}$$

where \mathbb{C} is the set of all complex numbers, the following results are true:

- (1) If (L1) holds, then (1.4) has no roots satisfying $|z| < 1$.
- (2) If (L2) holds, then (1.4) has one root satisfying $|z| < 1$.
- (3) If (L3) holds, then (1.4) has $\tau + 1$ roots satisfying $|z| < 1$.
- (4) If (L4) holds, then (1.4) has $\sigma + 1$ roots satisfying $|z| < 1$.

The proof is just based on the fundamental theorem of complex function theory, so here is omitted.

2. Asymptotically Stable Domain

Throughout this section, we always assume a, b and c are real numbers such that $a^2 + b^2 + c^2 \neq 0$.

Theorem 2.1. Suppose that

$$|a| + |b| + |c| < 1.$$

Then the difference equation (1.1) is asymptotically stable.

Proof. Note that all roots of the equation (1.4) are not in the set $\{z \in \mathbb{C} : |z| < 1\}$. An application of Lemma 1.3 concludes the proof. ■

Theorem 2.2. Suppose that the condition (L2), (L3), and (L4) is satisfied, respectively. Then the equation (1.1) has one, $\tau + 1$ and $\sigma + 1$ roots outside of the unit ball $\{z \in \mathbb{C} : |z| < 1\}$, respectively. Furthermore, the equation (1.1) is not asymptotically stable.

The proof is a direct result of Lemma 1.3.

Theorem 2.3. Suppose that $(a, b, c) \in D(a, b, c|\tau, \sigma)$ are such that (L5)–(L7) are not satisfied. Then the equation (1.1) is asymptotically stable if and only if

$$\bigcap_{\tau, \sigma \in \mathbb{N}} D(a, b, c|\tau, \sigma) = \{(a, b, c) : |a| + |b| + |c| < 1\}.$$

Proof. Sufficiency is obvious from Theorem 2.1.

Necessity. Suppose that (1.1) is asymptotically stable and μ is a root of (1.2) with $|\mu| < 1$. Set $\mu = re^{i\theta}$. The equation (1.2) is equivalent to the two equations

$$ar^{-1} \cos \theta + br^{-\tau-1} \cos(\tau + 1)\theta + cr^{-\sigma-1} \cos(\sigma + 1)\theta = 1 \tag{2.1}$$

and

$$ar^{-1} \sin \theta + br^{-\tau-1} \sin(\tau + 1)\theta + cr^{-\sigma-1} \sin(\sigma + 1)\theta = 1. \quad (2.2)$$

We divide the proof into four parts: (1) $a = 0$; (2) $b = 0$; (3) $c = 0$; (4) $abc \neq 0$. The proof of part (1) can be seen in [8]. For the part (2), we consider the following four cases: (i) $b = 0, c = 0$ and $a \neq 0$. Taking $\theta = 0$, by (2.1), we have

$$|a\mu^{-1} \cos \theta| = |a\mu^{-1}| = 1,$$

which implies that $|a| = |\mu| < 1$. When $b = 0, a = 0$ and $c \neq 0, |c| < 1$ can be obtained similarly. (ii) $b = 0, a > 0, c > 0$. By Lemma 1.2, the equation $a\mu^{-1} + c\mu^{-\sigma-1} = 1$ has a unique positive root ρ_1 . Pick a solution of the equations (2.1) and (2.2) $(r, \theta) = (\rho_1, 0)$. Then

$$1 = a\rho_1^{-1} + c\rho_1^{-\sigma-1} > a + c = |a| + |c|.$$

(iii) $b = 0, a < 0, c > 0$. By Lemma 1.2, the equation $-a\mu^{-1} + c\mu^{-\sigma-1} = 1$ has a unique positive root ρ_2 . Pick a solution of the equations (2.1) and (2.2) $(r, \theta) = (\rho_2, \pi)$. Then

$$1 = -a\rho_2^{-1} + c\rho_2^{-\sigma-1} > -a + c = |a| + |c|.$$

(iv) $b = 0, a < 0, c < 0$. In this case, the proof is just similar to the case (iii). A similar argument can prove the part (3).

Next, we prove part (4). We consider five cases. (i) $a, b, c > 0$; (ii) $a < 0, b, c > 0$; (iii) $a, c < 0, b > 0$; (iv) $a, b < 0, c > 0$; (v) $a, b, c < 0$. We only consider the case (i) and case (ii), since the others can be verified in similar ways. (i) Under this condition, by Lemma 1.2, the equation $a\mu^{-1} + b\mu^{-\tau-1} + c\mu^{-\sigma-1} = 1$ has a root $\rho_4 > 0$, which implies that $(r, \theta) = (\rho_4, 0)$ is a solution of (2.1) and (2.2). Thus

$$1 = a\rho_4^{-1} + b\rho_4^{-\tau-1} + c\rho_4^{-\sigma-1} > a + b + c = |a| + |b| + |c|.$$

(ii) In this case, the equation $-a\mu^{-1} + b\mu^{-\tau-1} + c\mu^{-\sigma-1} = 1$ has a root $\rho_5 > 0$, which implies that $(r, \theta) = (\rho_5, \pi)$ is a solution of (2.1) and (2.2). Thus

$$1 = -a\rho_5^{-1} + b\rho_5^{-\tau-1} + c\rho_5^{-\sigma-1} > -a + b + c = |a| + |b| + |c|.$$

The proof is complete. ■

3. Oscillation

In this section, we discuss oscillation of the equation (1.1). It is known that (1.1) is oscillatory if and only if the equation (1.2) has no positive solutions.

Theorem 3.1. If $b, c < 0$, then (1.1) is oscillatory if and only if

$$\lambda_0 - a - b\lambda_0^{-\tau} - c\lambda_0^{-\sigma} > 0,$$

where λ_0 is the unique positive root of the equation

$$1 + b\tau\lambda^{-\tau-1} + c\sigma\tau\lambda^{-\sigma-1} = 0. \tag{3.1}$$

Proof. Sufficiency. Let $F(\lambda) = \lambda - a - b\lambda^{-\tau} - c\sigma\lambda^{-\sigma}$. Note that $F'(\lambda) = 1 + b\tau\lambda^{-\tau-1} + c\sigma\tau\lambda^{-\sigma-1}$ and $F''(\lambda) = -b\tau(\tau + 1)\lambda^{-\tau-2} - c\sigma(\sigma + 1)\lambda^{-\sigma-2} > 0$, which imply that $F'(\lambda)$ is continuous and increasing in $(0, \infty)$. It follows from $\lim_{\lambda \rightarrow 0^+} F'(\lambda) = -\infty$ and $\lim_{\lambda \rightarrow \infty} F'(\lambda) = 1$ that there exists $\lambda_0 > 0$ such that $F'(\lambda_0) = 0$, i.e., λ_0 is the unique root of the equation (3.1). Since $F'(\lambda_0) = 0$ and $F''(\lambda_0) > 0$, it follows that $F(\lambda)$ attains its minimum at λ_0 . So, $\lambda_0 - a - b\lambda_0^{-\tau} - c\sigma\lambda_0^{-\sigma} > 0$, i.e., $F(\lambda_0) > 0$ leads to the fact $F(\lambda) > 0$ for $\lambda \in (0, \infty)$.

Necessity. Assume (1.1) is oscillatory and

$$\lambda_0 - a - b\lambda_0^{-\tau} - c\sigma\lambda_0^{-\sigma} \leq 0,$$

where λ_0 is the unique root of the equation (3.1). Since $F(\lambda_0) \leq 0$ and $\lim_{\lambda \rightarrow \infty} F(\lambda) = \infty$, there exists $\lambda_* > 0$ such that $F(\lambda_*) = 0$. That is, (1.2) has a positive root λ_* , which is a contradiction. The proof is complete. ■

Theorem 3.2. If $b, c < 0$, then (1.1) is oscillatory if and only if there exist A_1 and A_2 with $A_1, A_2 \in [0, 1]$ and $A_1 + A_2 = 1$ such that

$$\left(-bA_1^\tau \frac{(1 + \tau)^{\tau+1}}{\tau^\tau}\right)^{\frac{1}{1+\tau}} + \left(-cA_2^\sigma \frac{(1 + \sigma)^{\sigma+1}}{\sigma^\sigma}\right)^{\frac{1}{1+\sigma}} > a. \tag{3.2}$$

Proof. Sufficiency. Let $f_1(\lambda) = A_1\lambda - b\lambda^{-\tau}$, and $f_2(\lambda) = A_2\lambda - c\lambda^{-\sigma}$. Then $f_1(\lambda), f_2(\lambda) > 0$ for $b, c < 0$ and $\lambda > 0$. We know that $f_1(\lambda), f_2(\lambda)$ attains its minimum $\left(-bA_1^\tau \frac{(1 + \tau)^{\tau+1}}{\tau^\tau}\right)^{\frac{1}{1+\tau}}$ and $\left(-cA_2^\sigma \frac{(1 + \sigma)^{\sigma+1}}{\sigma^\sigma}\right)^{\frac{1}{1+\sigma}}$ at $\lambda_1 = \left(-\frac{b\tau}{A_1}\right)^{\frac{1}{1+\tau}}$ and $\lambda_2 = \left(-\frac{c\sigma}{A_2}\right)^{\frac{1}{1+\sigma}}$, respectively. Thus

$$\begin{aligned} F(\lambda) &= \lambda - a + f_1(\lambda) + f_2(\lambda) - (A_1 + A_2)\lambda \\ &= -a + f_1(\lambda) + f_2(\lambda) \\ &\geq -a + f_1(\lambda_1) + f_2(\lambda_2) \\ &\geq -a + \left(-bA_1^\tau \frac{(1 + \tau)^{\tau+1}}{\tau^\tau}\right)^{\frac{1}{1+\tau}} + \left(-cA_2^\sigma \frac{(1 + \sigma)^{\sigma+1}}{\sigma^\sigma}\right)^{\frac{1}{1+\sigma}} \\ &> -a + a = 0, \end{aligned}$$

which implies that $F(\lambda)$ has no positive roots.

Necessity. Assume that (1.1) is oscillatory and λ_0 is the unique positive root of the equation (3.1). In view of Theorem 3.1,

$$\lambda_0 - a - b\lambda_0^{-\tau} - c\sigma\lambda_0^{-\sigma} > 0.$$

Taking $A_1 = -b\tau\lambda_0^{-\tau-1}$ and $A_2 = -c\sigma\lambda_0^{-\sigma-1}$, we have $A_1 + A_2 = 1$. Furthermore,

$$\begin{aligned} & \left(-bA_1^\tau \frac{(1+\tau)^{\tau+1}}{\tau^\tau}\right)^{\frac{1}{1+\tau}} + \left(-cA_2^\sigma \frac{(1+\sigma)^{\sigma+1}}{\sigma^\sigma}\right)^{\frac{1}{1+\sigma}} \\ &= \left((-b(\tau\lambda_0^{-\tau-1})^\tau(-b) \frac{(1+\tau)^{\tau+1}}{\tau^\tau}\right)^{\frac{1}{1+\tau}} \\ & \quad + \left((-c\sigma\lambda_0^{-\sigma-1})^\sigma(-c) \frac{(1+\sigma)^{\sigma+1}}{\sigma^\sigma}\right)^{\frac{1}{1+\sigma}} \\ &= -b\lambda_0^{-\tau}(1+\tau) - c\lambda_0^{-\sigma}(1+\sigma) \\ &= (-b\lambda_0^{-\tau} - c\lambda_0^{-\sigma}) + (-b\tau\lambda_0^{-\tau} - c\sigma\lambda_0^{-\sigma}) \\ &> a - \lambda_0 + \lambda_0 = a. \end{aligned}$$

The proof is complete. ■

Acknowledgment

Sincerely thanks to the anonymous referee for his (her) careful reading and helpful suggestions to improve this paper.

References

- [1] R.J. Duffin, Algorithms for classical stability problems, *SIAM Rev.*, 11:196–213, 1969.
- [2] I. Györi, G. Ladas, and L. Pakula, Conditions for oscillation of difference equations with applications to equations with piecewise constant arguments, *SIAM J. Math. Anal.*, 22(3):769–773, 1991.
- [3] Spiridon A. Kuruklis, The asymptotic stability of $x_{n+1} - ax_n + bx_{n-k} = 0$, *J. Math. Anal. Appl.*, 188(3):719–731, 1994.
- [4] G. Ladas, Explicit conditions for the oscillation of difference equations, *J. Math. Anal. Appl.*, 153(1):276–287, 1990.
- [5] G. Ladas, Recent developments in the oscillation of delay difference equations, In *Differential equations (Colorado Springs, CO, 1989)*, volume 127 of *Lecture Notes in Pure and Appl. Math.*, pages 321–332. Dekker, New York, 1991.
- [6] G. Ladas, Ch. G. Philos, and Y. G. Sficas, Necessary and sufficient conditions for the oscillation of difference equations, *Libertas Math.*, 9:121–125, 1989.
- [7] Simon A. Levin and Robert M. May, A note on difference-delay equations, *Theoret. Population Biology*, 9(2):178–187, 1976.
- [8] Yi-Zhong Lin, Common domain of asymptotic stability of a family of difference equations, *Appl. Math. E-Notes*, 1:31–33 (electronic), 2001.

- [9] Yi-Zhong Lin and Sui Sun Cheng, Stability criteria for two partial difference equations, *Comput. Math. Appl.*, 32(7):87–103, 1996.
- [10] Yi-Zhong Lin and Sui Sun Cheng, Subexponential solutions of two partial difference equations with delays, *Taiwanese J. Math.*, 1(2):181–194, 1997.
- [11] E. C. Partheniadis, Stability and oscillation of neutral delay differential equations with piecewise constant argument, *Differential Integral Equations*, 1(4):459–472, 1988.
- [12] Ch. G. Philos, Oscillations in certain difference equations, *Utilitas Math.*, 39:215–218, 1991.